a, = 9.8 m/s’ (or 10 m/s?)

g=9.8 N/kg

sing = 222 cos¢9=ﬂ tan@zﬂ
hyp hyp adj

a’+b>=c’

—b++b* —4dac

2a
A, = Acosl, A, = Asin0,

A
A=\JA; +4; 0, = arctanA—y*

X

ax’ +bx+c=0 x=

—

A-B=AB .+ A,B,+AB._= ABcos0,,

| A x B|= ABsin@, ,(RHR)
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B, By B. B, By
Ax = X, X,
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xAVE At X x—0 At dt
Av, lim Av_  dv,
a = a. = =
xAVE At X x—0 At df
v, +V,

vx = vxi + axt vaVE =

2 2 2
X=x,+v t+)at" v.=v,+2a (x-x,)

2 2
R Yo sin(26)) ORR = ° sin(26))
a,| g

B__FB,A
Fﬂ<::uKFN
F < pusFy
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a,.=-L=aw’r
r
s=r6
vV, =T®
do
w=—
dt



WTOTAL = AK
WNC = AK + AU

W = FAxcost,,, W =[F(F)-dF
AU o A U, U,

F=— = J
dx & 124 174

K = %mvz Ug = 8my Usp = %kxz AU = —Wops
FSP = (—)kx
p_ W

dt
J = FAt = Ap j:jﬁ(t)d,;:Ap p=my

m, —m, 2m,
vlf = —vli sz = vli

ml _|_m2 ml +m2

s=r0 v,=ro a,=ra

0,-60, . do
AVE ~ w=—
t, —t, dt
0, -0, . do
AVE — a=—
t,—t, t
W+

w=0+0t ®,,= 2"

0=6+wt+ha’ o =w +2a(60-6)
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Fsin@ (RHR) 7=rxF

i, =la I=) m,r, I=J‘a’mr2

D.m,x,
— n
Xew =
2.m,
n

jdmx

~——— Similarly for y and z
j dm

Xeyw =

1 povrmuss = MR* 1 HOOP — MR?

1

DISK/CYLINDER

Kror = %Ia)z

= % MR* 1 SOLIDSPHERE — % MR® 1 THINROD — %2 ML

—

L . d
L=1o=rxp 7=—
Pt

veAf fe
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kpew = ky + k, + ... (side by side) + ... (end 2 end)

r=fower g - 1010l 1 - 102Wim?
Area IO
ny nyv
=—;;n=1,2,3,. =—;n-=1,3,5,.
T 2L 7 4L
p-oax | M p_op |L
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sin9 = 9radians
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